VIDYASAGAR UNIVERSITY

Question Paper

B. Com. (General) Examinations 2021
(Under CBCS Pattern)
Semester - V

Subject : B. COM.
Paper : DSE 2-T

Full Marks : 60
Time : 3 Hours

Candidates are required to give their answers in their own
words as far as practicable.
The figures in the margin indicate full marks.

(Fundamentals of Financial Management)
(Theory : Marks - 60)
Group-A
1. Answer any four of the following questions :

(a)  Explain the objectives of ‘Financial Mangement’.

12x4=48

(b)  Discuss critically Gordon’s Model of dividen policy with assumptions. What are the

conclusions in Gordon’s Model ?

8+4

(c)  Discuss briefly the factors to be taken into consideration while determining the requirement

of working capital of a manufacturing firm.




(d)

(©)

()

()

Fromt the following information, calculate net present value of the following project.

Cost of Investment—Rs. 2,00,000; Effective life—5 years; Scrap value—Nil; Cash
inflows for the five years are : 1st year—Rs. 56,000; 2nd year—Rs. 90,000; 3rd year—
Rs. 90,000, 4th year—Rs. 1,00,000; 5th year—Rs. 50,000.

The P.V. of Re 1 at 10% p.a. at the end of each year for five years are as
follows :

Year : 1 2 3 4 5
P.V. factor: 091 083 0.75 0.68 0.62

CB Ltd. issues 2000 10% Debentures of Rs. 1000 each at a discount of 10%. Corporate
tax rate is 40%. Compute the cost of debentures if they are redeemable after 10 years :

(1) at par and (ii) at a premium of 5%. 6+6

From the following information, prepare a statement showing the working capital requirement
of ABC Co. Ltd.

Yearly output—3,00,000 units. The cost structure per unit of the product is given below

Rs.
Raw Materials 20
Direct Labour 5

Overhead 15
Total Cost 40
Profit 10
Selling Price 50

Past trends indicate that raw materials are held in stock, on an average for two months
and processing time is half month. Finished goods remain in store for a month and suppliers
of materials extend one month’s credit. Two months credit is allowed to debtors. A
minimum cash balance of Rs. 25,000 is expected to be maintained.

The production process is assumed to be even throughout the year. 12

Discuss with assumptions the Net operating Income Approach of Capital Structure.
12




(h)  Write short notes : 4x3=12
(1) Weighted Average Cost of Capital
(i1) Concept of working Capital

(ii1) Operating and Financial leverages.

Group-B
2. Answer any six of the following questions : 2x6=12
(a) What is time value of money?
(b)  What is explicit and implict cost of capital.
(c)  What is working capital?
(d) How is cost of retained earnings calculated?
(¢) Define dividend?
()  What is financial management?
(g) Define the terms ‘risk’ and ‘return’.
(h)  Define the term ‘payback period’.
(1)  State four sources of short term finance.

()  Define the term ‘capital structure’.
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Cost of Investment—Rs. 2,00,000; effective life—5 years; Scrap value—Nil; Cash
inflows for the five years are : 1st year—Rs. 56,000; 2nd year—Rs. 90,000; 3rd year—
Rs. 90,000, 4th year—Rs. 1,00,000; 5th year—Rs. 50,000.

The P.V. of Re 1 at 10% p.a. at the end of each year for five years is as follows :

Year : 1 2 3 4 5

P.V. factor : 091 0.83 0.75 0.68 0.62

CB Ltd. issues 2000 10% Debentures of Rs. 1000 each at a discout of 10%. Corporate
tax rate is 40%. Compute cost of debentures if they are redeemable after 10 years :

(1) at par and (ii) at a premium of 5% Yy
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Yearly output—3,00,000 units. The cost structure per unit of the product is given below

Rs.
Raw Materials 20

Direct Labour 5

Overhead 15
Total Cost 40
Profit 10
Selling Price 50

Past trends indicate that raw materials are held in stock, on an average for two months
and processing time is half month. Finished goods remain in store for a month and suppliers
of materials extend one months’ credit. Two months’ credit is allowed to debtors. A
minimum cash balance of Rs. 25,000 is expected to be maintained.

The production process is assumed to be even throughout the year. 5
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Or

Indirect Tax Law
(Theory : Marks - 60)
Group-A
1. Answer any four of the following questions : 12x4=48

(a) How can ITC can be claimed under GST? Explain the provisions of availing ITC under
transitional scheme of GST. 6+6

(b)  State the importance of determination of “place of supply’? what do you mean by location
of supplier of goods? 6+6

(c) State the basic rates of Custom the Duty. How assessable value computed under is the
Customs Act, 1962. 6+6

(d)  Explain the applicability, conditions and rates under the Composition Scheme of GST.
12

(e)  Define ‘Captial Goods’ for the purpose of GST. Explain the conditions and time limit of
availing ITC on capital goods. 6+6

()  What are the different rates of GST? Mention five zero-rated goods under GST. Name
two goods which are kept out from GST. 5+5+2

(g)  State the advantages of GST. What do you mean by cascading effect? 8+4

(h)  Mention five services exempt undered GST. How GST is charged on imports and
exports. 5+7

Group-B
2. Answer any six of the following questions : 2x6=12
(a) What do you mean by GST?
(b)  What do you mean by dual GST?
(c)  What is Union Territory GST?

(d) What do you mean by FOB?




(¢)  What are the GST rates for a composition dealer?
(f)  When is GST registration mandatory ?
(2) What do you mean by Custom Water?
(h)  Distinguish between CGST and SGST.
(1)  State two services exempted under GST.
(G)  State two goods exempted under GST.
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Group-A
1. Answer any four of the following questions : 12x4=48
(a)  What is consumerism? Explain the objectives of consumerism. 4+8
(b)  Explain the background and characteristics of Consumer Protection Act, 1986. 12
(c)  Explain in detail the consumer dispute redressal agencies. 12
(d)  State the powers and jurisdiction of State Commissions. 12
(e)  Explain the procedure of filing complaints according to Consumer Protection Act, 1986.
12
(f)  State of role of TRAL 12
(g) State the role of consumer organizations in consumer protection. 12
(h)  Write short note on : 4+4+4
(a) FSSAI
(b) ISO
(c) IRDA
Group-B
2. Answer any six of the following questions : 2x6=12
(a) Define the term consumer.
(b)  Define the term consumerism.
(c)  What you mean by consumer protection?
(d) Give any two characteristics of Consumer Protection Act.
(¢) What do you mean by lack of service?

(f)

Or

Consumer Protection

(Theory : Marks - 60)

Which are the Consumer Protection Councils?




(g)  According to Consumer Protection Act, who is a complainant?
(h)  What is consumer education?
(i)  Which are the consumer redressal forums?

()  Give any two problems of rural consumers.
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